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B.Com. (Third Year) Examination, 2017
BANKING AND BUSINESS ECONOMICS

(Business Mathematics)

Time : Three Hours
Maximum Marks : 100

PART-A [Marks : 20]
(Tvs-37)
Answer all questions (50 words each).
All questions carry equal marks.

Tft WA sfer ® TEE W w1 S| 50 v @
A T W oAH e B oiw gEm

PART-B [Marks : 50]
(Tre-9)
Answer five questions (250 words each). Select one question
from each unit. All questions carry equal marks.

T TR W Th-UH WA I G, F ur W Fhm
TOF T H IW 250 TR ¥ o T @
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PART-C [Marks : 30]
(Tve-9)
Answer any two questions (300 words each).
All questions carry equal marks.
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PART-A
(@us-31)
UNIT-I
- GER-D
1. (@)  Evalvate:
M AT :
[ B-2x-x*)dx.
(i) Find the derivative of the function :
/= wem &1 oEHe JM IO :
y = 43 - T2 |
UNIT-1I
(FTE-1D)
i) I (3AR)

pefy et uef

Find (I HIWT)
" 2A-3B+1
(iv) Define square matrix.
i Aferm = ufteafya wifT
UNIT-11I
(FE-11D)
(v)  Define Basic solution.
uRsE Ui ® aRef s
(vi) What do you mean by term linear programming ?

Yo wiffm o oo W emeE 2
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UNIT-1V
(FFE-IV)
(vii) Define Duality.
toa = wRenfm wif
(viii) Write the names of methods of solving a LPP.
LPP & T ®W & Ol & ™ fafew
UNIT-V '
| FFTE-V)
(ix) Find the amount of annuity of Rs. 5,000 payable at
the each year for 7 years if money is worth 10% per
annum compounded annually ? /

g T @ *C S ogfeEd 5000 Fo, 10%
THadl e B R W 7 g8 9 fow gwE o

(x) How many years it will take for money to be double
- when interest is compounded annually at 5% ?

fret TRT @ s% F W ¥ T R H fee

9T @ ?
PART-B
(TUe-9)
UNIT-I
- (FFT-)
2. If(3R)
_ 1-x
" Vi+x
Prove that :
faz #ifem

(l—x)Z% +y=0,
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3. The total cost of a plantis given by
¢(x) = 0.0005x> - 0.02x% — 30x + 3,000

where c(x) is the total cost associated with the total
output x. Determine the average and marginal cost of the
production.

T W H AE WeW T w9 ¥ R own ®
c(x) = 0.00053 — 0.02x2 — 30x + 3,000

W' c(x) SR x ¥ G W@ W B SAR W

Rtk 1o L o O o

UNIT-II

(FFTE-10)
4.  Solve the following system of linear equations by matrix.
= sl w Afeem @ wemaw @ o'W s
2X+4Y-Z=9
3X+Y+2Z2=17
X+3Y-3Z=4

5. If (3R)

A_l - B= a 1

Tz - T iy -1
and (991) (A + B)? = A% + B2
Find g and b. (I@ FIEC a T2 b)I
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— UNIT-1II

| (FFE-11D)
6. Solve graphically :
W@eT g T W ;

Maximize z = 5x; + 3x,

FAferrm IS

Subject to 3x, + 5x, < 15

wafe fm ® 5x, + 2x,< 10
X, #>0

7..  Solve graphically :

Wet g T HiWT
Minimize z = 1.5x; + 2.5x,
T IS
Subject to X +3x,23
ot o % x + x222
X, Xy >0
UNIT-1IV
(FHE-IV)

8. Solve the following LPP by converting it into its dual.

frfafen os Tome g ® faa ¥ wRaffa w@
T FA Hifea
Minimize Z = 2X, + 5X,
A i
Subject to X, +X;>2
Safe fem # 2X, +X,+6X,<6

' X, X, X320
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9.  Solve the following transportation problem :

f= dfEeT gaem w T iR

Ware House Store Supply
A B C D
W, g 12 9 6 | 7
W, 7 3 1 7 6
W, 6 519 11 |9
Requirement | 6 6 2
UNIT-V
(FFE-V)

10. A man borrows Rs. 15,000 from bank at 10% compound

' interest. At the end of the every year he pays Rs. 5,000 at
part repayment of loan and interest. How much does he
still owe to bank after five such installments. ‘

T =R 15000 TI 10% WHS AN W W Y I
Y TYR O B W€ YAF o8 3d H 5000 T
T ok = ® T W T w8 e fRva s
FEH F IWK fFaT 3T I w2

11. Rs. 10,000 is invested at the end of every month in an
account paying interest 8% per year compounded monthly.
What is the amount of annuity after 4th payment ?

8% ¥ a9 wwmedt = W W J 10000 TW F
e ® ofa H WA fFT 9 ¥l 4 frvd & SR fEe
T A9 w@d ?
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12.

13.

14.

PART-C
(Tus-9) .
UNIT-I
EFE-D
Find the maximum and minimum of the function :
o ® fuFad T SR AW @ SN
X -5+ 58 - 1.

UNIT-1I

- (FE-1D
Solve the following system of equations by using matrix
inverse method. ‘

= i = Aftem wfem fafy @ '@ s
-4X +3Y +Z =10
5X + 2Y - 7Z = 24
2X -3Y + 52 =22

UNIT-I1I
(FE-11D)
Solve graphically :
WHT g T HINT:
Maximize - z = 50x; + 30x,
afurmam HIWC
Subject to 2, +x,> 18
wafs fm ® 3x, +2x,<34
x +x,>12
i x, % =0

3842-CHM0,340/566/32 . 7 - [PTO.



UNIT-1V

(FHTE-1IV)

15. Solve the following linear programming :

ﬁﬂﬁ#@a%ﬁ@mmmaﬁﬁm

Maximize z=2 + 3x2 + Sx3
AfuFar FifsT
Subject to X+x+x<7

St B x4 2x, < 13

X, Xy X320

UNIT-V

FFE-V)

16. Sohan plans a foreign tour after 5 years. He expects the
cost of his tour to be Rs. 7,00,000. How much should he
save at the end of each year for 5 years to accumulate this
amount, if money is worth 7% compounded annually ?

e ¥ We ad uwem RRw aen # oA owE S
SHE! SEAR F SER AN H |A @@ 7,00,000 T
T AR o F 7% W W ¥ wwed g e T @
I s T TE TE A4 W o ¥ I R e w
T FHET =T ?
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